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Review Slope

Wit ao equation | y=my+h) for the graph of a lincar function that has slope § and and & y-tercept of 7.
Winke the eypatson y=mx*b) of & line with a y-intercept of -4 and a slope perpendicular 1o 43

at  Dereveese the whope of this line segment
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3. Determine the shope of the line that passes through (=11, =8) and (6, 16).
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3. The shopes of two fines are 77 #d 77 Are the two lines parallel, perpendicular, or neither?
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_ Review Slope

“the graph of a linear function that has slope 8 and and a y-intercept of 7.
. ‘a line with a y=intercept of -4 and a slope perpendicular to 4/3.
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Fl]form, then graph.
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3y—6=2x-12
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Jy-6=2x-12
Slope:
y-int: Ha
u-b= 2x-127%
=25k
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trouble in Math, he charges 510 as a flat fee and %15 for every hour,
to I;Epresent this situation.

tutoring can Martha receive for 5587

will it cost for 11 hours of tutoring?

ar plus a flat rate of 510.

y represent this situation.

bysitting can Mr. and Mrs. Jones receive for 51687

t cost for 12 hours of babysitling?
ntract with the new show "Math is Marvelous” to write the theme

ove Math!l” She will get paid 4138 every time the song is played

G

this situation.
e to play for Brittany to receive 510 0007

id if the song plays 560 times?
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1950 =135y
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ey jzk%ﬁ’*x + 050
= 13§ (560) + 2050
= 772¢0 + &050
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